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I 2 mwn (second part): if he said “I explicated a nmn of X 1wy but don’t remember how much”
a  opom: he must bring 60 mnwy
b 237 he must bring 60! (60 factorial = 1830)
¢ Note: 12 adds another wrinkle — if he also knew that he had set which type of nnin but forgot that as well:
i opom 5x60=300
ii 237 5x60! = 9150
d  Analysis of their dispute:
i n”r whether or not it is permissible to bring 1>1n into N7ty (D3N permit)
ii ~ n27 all agree that that is prohibited; dispute is whether it is permitted to mix namn with nam (1327 permit)
1 Challenge (»3x): but then we would require 2 n'¥np —for nan (however much it is) and for nam (remainder)
2 Answer: he performs 2 n'xnp
(a) Challenge: but he doesn’t know which is namn or nam
(i) Answer: he makes it contingent on 1n3’s determination (whatever jn3 takes first is namn...)
(b) Challenge: how can he burn them?
(i) If: he burns nam first, can’t burn n2yn — might have been 60 n21n and now we have 1 10NV D7PY
n7vpPNY N¥NP — may not burn ymp for them
(ii) And if: he burns nan first, perhaps it was all n21n and then we have an MR of y1opn Ya
(c) Defense (972w7): he puts na11 ymp up as fuel, per R"7’s inference from v. 1
iii  &”15 8297 7773 ¥nX 7. perhaps all agree that we may mix na nan and they dispute whether to accept q1y9x *9?
1 Rejection: if 27 holds that we may mix nam nain (but rejects X"1), he could bring a nmn of 60 and a nnn of 1
and touch them together and take a single ymp (avoiding the problem of y1vpn Ya)
iv  n27 all agree that we may mix N2 namn and all accept X"1’s “solution” to y1vpn Y2
1 Dispute: follows »”ar1/p'nan (above, x:v), whether each 1wy has 1 2% of oil (n'nan) or 1 nY per nmn (per v. 2)
(a) Therefore: according to 723, who follows »"ar1, we don’t know how many »% to bring if we combine
v owN 1 they disagree in case where someone committed to bring small offering and brought large
1 Challenge: they already recorded this disagreement (ahead v:») vis-a-vis commitment to bring a 17w
2 Justification: if we only had this case, 8”10 that 13271 allow because both are a single ymp
(a) But: in that case, where there are more (larger) PR — they would agree with 27 (and flip- xm1x)
I » mwn: Further on implications of unspecified commitments
a  If he said: 0¥y *9y 10 — he must bring at least two boards
i Note: wood is a valid gift, per v. 3; minimum of 2 per v. 4
1 »27 wood may be considered a 12p, requiring salt, nwan , (x17) — n¥np and (9”1) — more Wy
b If he said: n112% *5y 0 — brings at least one ymp — per v. 5, which compares pmp to nnay
i ap7azif he said nam? *9y "N, brings nnaY, as that is only thing that goes purely on nam
1 25w pelt goes to mand
2 9wn n5w. esophagus and feathers (that come with it) are thrown out
3 ppr go down tubes, not on fire
4 poor nna most other mnan are eaten, therefore he didn’t want to say “nmn”
ii ~ And: if he designated something but doesn’t remember what it was — brings everything that goes on nam
¢ Tangent: there are 5 n'¥np — default of n111Y, N2 nman adds N1 ymip, yina nbyn, 2 oxnp of N1y in WM
I 7 mwn: further implications of unspecified commitments
a  If he said: ant *9y »n — at least ant 7177
i Analysis: not a piece of gold, - he said “yaon” (®"); not a small coin — they don’t mint gold for that
b If he said: 903 *9y N — at least qo3 1177 (1/25 of ant 7)
i Analysis: not a piece of silver, - he said “yavn” (x™); not a small coin; this is in region where they are uncommon
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¢ If he said: nw Y5y 0 —no less than 1 nyn of silver’s worth of copper coins
i ap»73 787 (presumably if he didn’t specify yavn) — may bring a small copper fork
1 Usein w1pp (7a8): to pull out wicks as part of mMn navn and cleaning out lamps
ii ~ ap2»7x if he says Y111 '9Y "0, must bring at least 1x1 nny, used for “anti-crow perch” atop 93°n
d  If he said: set an amount, doesn’t remember how much — they bring until he is sure that that is more than he intended
IV n mwn: yet more implications of unspecified commitments
a  If he said: 1> 'Yy »n — brings at least 3 pnb
i Source: v. 6 — n R allows for voluntary offering; no less than 3, but may increase, per n’n
b If he said: 10w *9p M, brings at least 1 119, per nnon
i Dissent: »a1 — brings at least 3 pa
1 Analysis of dispute:
(a) students suggested to 9”1 that they disagree about n3m NN N7 vs. NINRL PR NN NT
(i) 37 nPm nrn —we derive ability to donate from naT1 nmn; just as that has 1 »% of oil, so too here
(i) 227 NINR2'PIR — derive from naT1 NNIN, but it maintains MW of ©701 (NINR) — 3 Py
(b) 927 if we would infer from nam nmn, all would agree to n3»m nn N7 and we’d agree to allow 1 1%
(i) But:»infers from v. 6 — R > must follow amount of o301 NN
(if) Challenge (3777 7772 #2177 77): we have ®n»11 where v. 3 (J27p) is used as source — and 3 0 are given
1. And: only authority who rules for 3 15 is 227 — and his source is not N7 — (9" is refuted)
¢ And: if he designated an amount but doesn’t remember what it was — brings as much as the sum offering of the
“biggest day” for mmin
i ap79x 1stday mow which falls on naw (140 »5)

www.dafyomivicc.org RY © Yitzchak Etshalom 2011




